MATZ2705-01/04 035 Quiz 6 Print Name (Last, First) o

Show all work. including mental steps. in a clearly organized way that speaks tor itself. Use proper
mathematical notation. dentilving expressions by their proper symbols {introducing them if necessarv),
and usc arrows and equal signs when appropriate. Always simphty expressions. BOX final shoit
answers. LABEL parts of problem. Keep answers EXACT (not decimal approximations).

V= [3,9,0,5} T£ these v_ec%ors are. {inearly independent | show thig
W= (3,0,8,-7) (and expain why your uaof’rz Justifhers Your conclusion ) .
V= [4,3,5,0) otherwise find o mentmivial lineur combination of them

which s eqvlat 1o the Z2EM vedor
Besure fo stafe the augmented matrx S yuy use fo answer this qucs‘f‘lo;o s well
as the resutt rref(s) youdbtar with technology _Tf'ﬂ':e vechors ore ;'.‘rjcar{a
dePcr‘:dGmLl Your fingl response  Should e something [k Q\Z—?Lfg'-?}.:q

y'-4y=o0o ; g.=e2x>vz—-e‘2x ;ogly=1 yoy=0.
Find & parhadar soluhion of the DE of the ™ = C A

_ = art
sabishes the ndal condions.  Then checle 'ﬁ'\ﬁi goug 'h'esu\l‘:*j }:;?:sgﬁze-;tﬂxe DE=




